

SUMMER 2015

Dr. Faiz Rahman CHAIRMAN, FOUNDER

Dear Sponsors and Donors:

Happy Summer Days!

I recently returned from a two-week study tour of Israel with the *Holy Land Studies* group out of Springfield, Missouri. Lectures, digs, and an in-depth analysis of the land and times of Jesus. Just a way for me to keep my mind alert.

All of our GNI kids are very excited and anticipatory of my showing them hundreds of slides of the places where Jesus walked. And I promised that for each Dream Center, I would bring back a small rock from the Valley of Elah – where David picked up 5 smooth stones on his way to meet Goliath.. and you know the rest of the story. Each stone will be mounted on a small card with the inscription: YOU CAN SLAY YOUR GIANTS!



May at Jharsuguda





The world's largest network of 24/7 care centers for orphaned and/or destitute children.

Upcoming Graduation Ceremonies



We are having 5 major graduation events – over 310 kids are walking the line in caps and gowns to the pomp of Elgar's March. My desire is to create a visual in the minds of the rest of the kids who are watching. We put on a "dog and pony show" like no other. Colors, decorations, pomp and circumstances, caps and gowns, banners, music, balloons – the whole works. I want them to whisper to themselves: "I want to do that, too… I want to walk in under all that hoopla and get my diploma from daddy…" It is a way for me to keep them motivated to stay in school.

The other thing I do to motivate our kids is to promise all those who earn an A+ in our own GNI exams the chance to attend a full English-medium private school. It costs a lot, but so far we have about 25 kids who have qualified and are attending local English medium schools.

A C H I E V E M E N T

GNI GTC

ACCOMPLISHMENT

That is why I am pregnant... with the **GNIGTC**... the **Good News India Gifted & Talented Center**. It is a dream so big that it is downright scary. Only God can pull this off, but I have a dream. I have a sliver of land about 1 KM from our present **Joy Memorial Building** in Bhubaneswar. But the land right behind this building has come available. A choice piece of expensive property – the asking price is around \$85,000. But on it, I can build a multi-story building right next to our office and this will house the

crème-de-le-crème of our GNI diamonds. The best in Arts, Academics and Sports. And these will be the movers and shakers in the years to come. I believe that this group will produce our future doctors, lawyers, politicians, professors, business people. entrepreneurs, and athletes. The budget to build it and run it will be high, but the returns for the Kingdom of God, from these acres of diamonds, cannot be measured.





New Dream Center Dedication



In our last issue, I mentioned our new Dream Center at Deogarh, Odisha, the Walton Dream Center. Last month, this Dream Center, situated in the most beautiful and picturesque location, was dedicated to the Lord. Mountains in front, a gentle valley leading to a river at the back and wide open spaces on all sides...just gorgeous. We are the only resource in the whole county for kids at risk. The local police and child welfare people depend upon us to look after any and all kids that they find.

I am happy to report that we are beginning construction for new Dream Centers at Rayagada and Balangir, both in Odisha state. Our Dream Centers at Khemasole (W. Bengal) and Mayurbanjh (Odisha) are nearing completion.

High Risk Ministry



(Left) Our two growing homes at Mirik and Tung, WB.

I am heading up to Guwahati in extreme North Bengal area to open a third High Risk home there to intercept girls before they are trafficked out. I believe that God has given us the right couple in that area to lead this home.



We are so grateful...

Thank you again and again to our many sponsors who responded to our plea for help with purchasing bunk beds. And to you who send in cards and letters. Our kids cherish and preserve your letters and cards for years!! One card with a photograph will keep them giddy for months! It means that much to them. PLEASE WRITE TO THEM. If only I could show you the delight in their eyes when they get a note from their sponsors.

No one else is doing what we are doing – looking after so many kids 24/7 and guaranteeing them a College or Vo-tech degree. I can only do this as long as you stand by me.

I appreciate each of you more than words can convey.

Joyfully in Christ's Service,

Inran.

Dr. Faiz Rahman CHAIRMAN~FOUNDER







Contact Us Southan Contact Us Contact Us Contact Us Contact Us Contact Contact



U.S. ADDRESS: Good News India PO Box 72747 Phoenix Arizona 85050



<u>CANADA</u>: Assists Projects- Good News India PO Box 71027 Newmarket, Ontario L3X 1Y8

NEW ZEALAND: G.N.I.-Dream Centre Auckland PO Box 27256 Mt Roskill Auckland 1440

www.goodnewsindia.org

EMAIL:

General Questions: info@goodnewsindia.org Payment Processing Questions: gni.phx@gmail.com Dr. Rahman: DrR@goodnewsindia.org

EMAIL-Website gni.canada@goodnewsindia.org www.goodnewsindia.ca

EMAIL: New Zealand gni.nz@goodnewsindia.org

TELEPHONE: 1-8<u>55</u>-GNI-CHILD 464-2445

Meet Our Board of Directors

www.goodnewsindia.org 'About Us'

Giving by Phone

If you would like to give a one-time donation or set up your sponsorship commitment on an auto monthly deduction using your debit or credit card, please call us.

Designated Funds

GNI will conscientiously honor designated funds for specific projects but reserves the right to use these funds and any excess for ministry expenses at the discretion of the Board.

info@goodnewsindia.org

Questions? If you have questions about your sponsorship or corresponding with your child, please call or email us.

PROJECT NEEDS

*Priority

Ligita Diated Di Culla I'n'.2			
BALIGERIA (101-299)	BARAKATI (2601-2799)	NABRANGPUR (5401-5599)	
3 Rugs, XXL [\$333 ea.] \$1,000	1 Kitchen renovation \$2,200	2 Iron doors \$500	
193 Tin boxes [\$14 ea.] 2,702		1 Iron gate 160	
	GANJAM (2801-2999)	3 Swamp coolers 426	
TIHIDI (501-699)	1 Refrigerator \$420	6 Chairs, plastic 60	
3 Floor mats [\$7 ea.] \$21 Wire fence in back 2,000		1 Motorcycle 1,000 1 Water filter 150	
where hence in back 2,000		1 Water litter 150	
BALASORE (801-999)	DHENKANAL (3001-3199)	KHEMASOLE (5601-5799)	
13 Ceiling fans [\$25 ea.] \$325	57 Tin boxes [\$14 ea.] \$798	3 Ceiling fans [\$25 ea.] \$75	
2 Tin storage box, Lg 200	6 Swamp coolers 852	1 Drum set 100	
	1 Storage cupboard 150	10 Light bulbs CFL 200	
JHARSUGUDA (1001-1199)	3 Cooking pots, Lg. 375	2 Tin storage box, Lg 200	
		and the second secon	
	ASHROI KENDRA (3201-3399)	MAYURBHANJ (5801-5999)	
		1 Tin storage box, Lg 100	
MIRIK [HighRisk] (1201-1399) 22 Tin boxes for girls [\$14] \$308			
22 THI DUXES for gins [\$14] \$500		CHANDRAGIRI (6001-6199)	
SIRISBONI (1401-1599)	DEOGARH-Walton(3401-3599)	3 Cooking pots, Lg \$375	
6 Ceiling fans [\$25 ea.] \$150	1 Storage cupboard \$150	3 Storage cupboard 450	
80 Tin boxes [\$14 ea.] 1120	1 Desk 90	3 Water drums. Med 180	
Mosquito Nets* 330	1 Tin storage box, Lg 100	10 Chairs, plastic 100	
	BUDI (2004 2700)	5 Ceiling fans 125	
GAJAPATI (1601-1799)	PURI (3601-3799)	Musical Instruments 142	
		1 Refrigerator 420	
KODADUT (4004 4000)			
KORAPUT (1801-1999) 15 Ceiling fans \$375	RAYAGADA(3801-3999)	BASTAR (6201-6399)	
20 Light bulbs CFL 335	3 Ceiling fans \$75	4 Chairs, plastic \$40 1 Cooking pot, XL 200	
1 Refrigerator 420	5 Cening fails \$75	1Cooking pot, XL2001Storage cupboard150	
1 Boundary fence 5,000	LODHA (4001-4299)		
	4 Cooking pots [\$125 ea.] \$500	BALANGIR (6401-6599)	
KANDHAMAL (2001-2199)	1 Refrigerator 420	1 Cooking pot, Lg \$125	
6 Ceiling fans \$150		1 Water pump 100	
1 Refrigerator 420	SUNDARGARH (5001-5299)	1 Refrigerator 420	
1 Storage cupboard 150	5 Ceiling fans \$125	1 Tin storage box, Lg 100	
	4 Swamp coolers 568		
BOUDH (2201-2299)	1 Pressure cooker 120	BARGARH (6601-6799)	
6 Swamp coolers [\$142 ea.] \$852	110000000000000000000000000000000000000	6 Ceiling fans \$150	
1 Storage cupboard 150	BARRIE Dream Ctr (5201-5399)	4 Chairs, plastic 40 1 Storage cupboard 150	
2 Chairs, plastic 20	Cooking utensils \$180	1 Generator 1,250	
_ • • • • • • • • • • • • • • • • • • •	¢100	1,200	

THANK YOU FOR BUY HALF OF A BUNK BED FOR YOUR CHILD.

The Child Welfare Society in India is requiring us to purchase iron bunk beds for our nearly 3,000 kids. This will cost us about \$100 per child. Your help is greatly appreciated!



School began in April... If you have not yet, could you help us defray our cost of \$20 per child for school supplies?

If you would like to support the ministries of Good News India by giving a one-time donation or setting up a monthly gift, you may mail a check, set up your own auto bill pay with your bank, use the form below to make a donation by debit or credit card, or call us at: 1-855-GNI-CHILD 464-2445

DEBIT / CREDIT	CARD details:	GOOD
Your NAME as it appe	ears on your card:	
		AND A
Your ADDRESS as it app	ears on your card statement:	
		L I Fra V
CITY	STATE POSTAL CODE Province	
Card Type: VISA		
Card Number:		
Expiration date:		
Please charge a one-time	gift of \$00 to my card now.	The
□ Please charge \$0	0 to my card on this date.	
I am making a monthly co	ommitment of \$00	
Signature:		
Telephone: ()	· · · · · · · · · · · · · · · · · · ·	
Email:		
My gift is for:		MARKEN DATE OF
General Donation		AND BRAD
Child Sponsorship I.D.	. No	NO CONTROL
Leper Ministry		
Project Needs:		
		- SCH NOV
Other:		
UNITED STATES P.0	OD NEWS INDIA . Box 72747 penix AZ 85050	
Pho		
CANADA P.O	sists Projects - Good News India . Box 71027 wmarket, ON L3X 1Y8	
NEW ZEALAND PO	I-Dream Centre Auckland Box 27256 Mt Roskill ckland 1440	2.